EARAZROREIERT — 2 N—XBISY —F 20215F4817H (£) 2[EIBR+##7H

i3 2Bo 52 ¥5R4®E (BE) N>F BRI
[A&4] 1 7 :15,000,000 § ~ 2 7% :6,000,000 § ~ 33 :3,800,000 § 4 3% :2,300,000 5 & :750,000
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
A # o4 | AHZES 1:09.5 7-7 34.11101.8| 2 480 | HREBET (FR)
1 g|A—FKXT1TU—=7 5.0 (=) (+6) ") O-FA-2757
R:grprtrX B:yavFrr7AN KALdhism
. 3 4t 5 | C. bx—=Jb 1:09.5 3-4 34.4[101.6 | 1 518 |EREE (RR)
oY 3 | P>Fa1—a2VF 57.0 (7€) (o) | EERIE
L:A—-KAFA7 B:RAXT>T1—7 e
. N BERER : - =i (EXR)
3|5|5|*f¥avausz B "o S R &i KT
RixAyavovy B:71X7149L71 El=X njibiec)
N # 5 | ESRA 1:10.0 5-5 34.8| %.2 | 8 514 | BEFNR (RR)
4l8l11| 7—T>ENT > 54.0 (1/2) 4y |FAT
LA aK—F— Bk A bU—7 BKZ &y K
° R 4 8 | AHERH 1:10.1 5-5 34.9| 95.1 | 9 470 | BW (ER)
507/ 9| E-ZTT K 5.0 (3/8) Go) |l
RFA—TANT N BRATA—HT— It e
= s 5 | BEERMETT 1:10.1 8-7 34.7| 95.2 | 7 498 | FRBE (BR)
507]10/ F2—VITH I3 53.0 (%) (25 |BER=
L:wiNnNyghr7r B:A4raJ=—F EBRT7—L
; - _ 5 4 o6 | EAHE— 1:10.3 8-7 34.9| 93.1| 5 482 | MREE (RR)
K7 Frr==5> 54.0 1 1/4) e | BREH LY
ST T4 N BTFIT-0 =Y Ty —L
_ 5 | fomE= 10. o ) i BEEM (FH)
glglio| 75 v o449~ [B] we R Fe S I Rl Il B B 765
R:TFvIaAK B:v—URILAX J—H Ty — L
; 4 4 | BEREEX 1:10.4 1-1 35.8| 92.3 | 3 438 | BERAfE— (3ER)
] 4 *—414Y 53.0 (3/4) (-2) BLlFE—
A:War Command #:77>d—d— Blite
s . # 5 | ERH 1:10.6 8-12 35.0 90.0 | 10 | 478 |/hEEZ (F#)
1001/1|®VTaT72xy 7 53.0 (1 1/4) () |KICL=>>7
YL KYIYRIR BT RIAY XA HITARELS
;= 4 o6 | BHF 1:10.7 8-10 35.2| 88.9 | 12 | 440 |BR (BER)
1|5/6| 70/ 157> 53.0 (1/2) e | B
:IANXRZXTNYT BEILIZ—F0 wH B
PR # 5 | MTZTER 1:10.9 8-10 35.4 | 86.9 | 11 530 | THEEZ (FF)
12| 7~ b 520 (1 1/2) (g | FilA
L:ErFOYY B:dvvy RS
@ 71 L
) 46.1-34.9
NAZA L | 12.4-11.0-11.2-11.4-11.5-12.0
® I —F—EBIERL
1T=7r=
20—7—
30—4— 4,5(3,12) (9,11)8(1,2,6,7,10)
40—F— 4,5,12,3(9,11) (8,7,10) (2,6)1
[ N3
BB 8 640M 714K 3-8 250M ) 3-6 290M JEHE 3-5-8 1,510
8 B 8 170 5-8 800M B = 3-8 530M 3 E 8-3-5 10,350M
3 1104 3-5 M| | BB B 8-3 1,750
5 230M

ARICOVWTRDTEEERROODE. TR LIV,




